A& ol &b A & Al A
20198 = =0l &t LB A
& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Oll &F o & E 0l At Hr&E2
E5 Al 36,429,880 34,410,000 2,019,880
100 X1 Al=¢ 36,429,880 34,410,000 2,019,880
110 XAl 36,429,880 34,410,000 2,019,880
111 ESAl 35,929,880 33,910,000 2,019,880
111-03 =2l Al 1,870,000 1,860,000 10,000
[ 23 ] 1,870,000 1,860,000 10,000
<ML > 1,870,000 1,860,000 10,000
OXHatg 440,000
—330m =t At A 250 = 1,760,000m 440,000
Ooose 380,000
— el 10,000 = 25,400Al CH 254,000
— ol ¥ IOHQIANS & 50,000& = 2,520 126,000
osgas= 210,000,000,000& =* 0.005 1,050,000
111-04 TH & A 8,310,000 8,100,000 210,000
[ el A ] 8,310,000 8,100,000 210,000
<ML > 8,310,000 8,100,000 210,000
OFal-—3-- 780,000,000,000& =* 2.5/1,000 1,950,000
OEX= 2,100,000,000,000& = 2.5/1,000 5,250,000
o8z 740,000,000,000& * 1.5/1,000 1,110,000
111-05 X+ = XHAl 8,249,880 7,850,000 399,880
[ LEH3IAH ] 8,249,880 7,850,000 399,880
< MR > 8,249,880 7,850,000 399,880
OsEXsit 4,141,480
— 800ccOl 5t 80& * 800cc * 600CH = 0.7 26,880
— 1000ccOl &t 80&  1,000cc » 2,500CH = 0.7 140,000
— 1600ccOl Gt 1408  1,500cc = 3,800CH * 0.7 558,600
— 2000ccOl Gt 200& = 2,000cc * 7,500CH * 0.7 2,100,000
— 2000cc== 2t 200& = 2,000cc = 4,700CH * 0.7 1,316,000
Osg & stsitsxt 308,400
—-s& 42,000& = 1,100CH 46,200
— &= 28,500& = 9,200CH 262,200
OF&dA 3,800,000,000& 3,800,000
111-07 S A HIAl 5,000,000 5,100,000 100,000
[ 2etsl A ] 5,000,000 5,100,000 A 100,000




100 X2 A+=¢

X
I’Z 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2

<MW > 5,000,000 5,100,000 100,000
O=+=g &l 1,007& = 37,736 38,000
O=4&tE i 1,007& = 4,927,508 4,962,000

111-09 X &S Al 12,500,000 11,000,000 1,500,000

[ 2etsl A ] 12,500,000 11,000,000 1,500,000

<ML > 12,500,000 11,000,000 1,500,000
OAase 12,500,000
—aSAHE 55,000,000,000& * 10/100 5,500,000
—gelAg 70,000,000,000& * 10/100 7,000,000

M3 At =42 500,000 500,000 0

113-01 AtE =+ 500,000 500,000 0

[ el A ] 500,000 500,000 0

<ML > 500,000 500,000 0
OXdEE =g 500,000, 000& 500,000




